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2.1 �����	
��
�������� 
 

2.1.1 ��������������
��������� (International Trade Theory) 

����������	
���
��������	���
������������������������������������ ��� �!�����"�
#$������%
 �&��	����'����������
��� �()*����������������������	�+���, -����� �()*����.
-������

%�
��.
/�0&��� ���. �.��, �()*����.-������

%�
����

���

�������� �����&%�, 

�()*��1�2�3''�
�����������4�� ��&���%��&���, �()*������
�
����������������� ��� 
.
�� (Hla Myint) �������������

�������!-����5�� �()*����.-������

%�
��.
/�0&��� ���. 
�.�� (Adam Smith: Absolute Advantage Theory, 1759) ����()*����.-������

%�
����

���


�������� �����&%� (David Ricardo: Comparative Advantage Theory, 1817) 

 

1) ������
�!"
�������#
��
$
��
 (Absolute Advantage Theory) 

Adam Smith (1723 – 1790) ��6��/����
����������������5��������

���� (free 

trade ��5� open markets) �������"�2���������������!��+����.�����
���������+�������������� 
���'����!����������
���+����������������.��#.��������72�����������������	��.��#����-��%�

�������	+���	��� 

��������	
��
������������������������������� ������������������� ���!�� ����
�"�"���!��"
��#� ����"�����$����%�������&
���������
 ����&�!��$���
��'&������'��(!�)�*�� 

���� $��+ ���,�����&��&"#	
���+������������"
��#������	
�"!��$���
�����"�"������
�'&������'��( ������'$��+�-�,�����	
�" (Productivities) !���.�������	
�"�������"�����&��
$����%!��"
��#����	
�" *����'$��+�-�,���	
�"��)���"�)���/���, )�0��!��������
���������
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+���1�"��
'!
���
������2/�$�
��!�)������ (acquired advantage) ���"
����� �����
��� ����( ��� 

������������!�����+�"# !3'�����'���&
�� �4 �1�� ����1����%,��(5�
'���������	
�" 

  ����+�������.-������

���8��. ���������. +���,�����������	�����$!���!�
����	 �.�8 ��������������������.��#���������� 0 �������	+�����'�����������������.��#�+�
����������-��.�������������/���� �.�8 .���������+����������.-������

�������������.�
'���������������(Supply side) ������� 

  ������������
��������� ���. �.�8 ����9�
/��� �()*�./����������  (labor 

theory of value) ��	�..������������������  (1) .��3''�
�������2�
��
������
� ���.����)0����
��01�2��	��.5�������������� (homogeneous) (2) ��������5���������������$!��
/���
���.�0
�����������	��������+�.�� ���������� ����
���� �� #������:��.����� ����������
���������
�����$	���� ���
��������������()���� ��������������������:��.����'��	+������������() 
������
��()*���������� ���. �.�8 ��� �()*�������-������

%�
��"���� (principle of absolute 

advantage) ��������
-����
�����������%�� .���������� �����%�� ������������.
 +���, '���6����%
 �&�.5	���������$	�.����.-������

;(����.�
#$� ���� ����������
����
�����������������$	�����
) 
  �����	%��'�-�����%
 �&'������
���
�������������������� �����������
����.���������	.����.-������

%�
��"����.�������������/���� �0����
����������'��+�����
��������	�����
����

%�
��"�������������(Absolute cost disadvantage) ���'��+����������
��������	.����.-������

%�
��"���� 
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%������� 2.1 �������.-������

%�
��"�����.5	������������.�������8�1�2.���������������
��������$	� ��� 

������ ��������� �	�%.������� (labor hour) 

Wine (W) Cloth (C) 

US 

UK 

5 

15 

20 

10 

��	.� : ���):�����&��������������������
5!�����, 2552 ���� 23 

 

  '���������	 1 ������ ����.����� ��.��#-��& 5 ��� ��� 20 ���������           
1  �	�%.������� �0���	����������������()��.��#����-��& 15 ��� ��5���� 10 ��� ������
������� <$	���"�-�� ���'���� ����:��.����.����.-������

%�
��"���������������� �������().�
���.-������

%�
��"�������������-��& 
  ��.�()*����-������

%�
�.
/�0&��� ���. �.�8��!� �������� “�����������
-����
���%
 �&'�����. +���,�����������������	���� 0 ��������	�	+������������5	� ����+�����
��������	���� 0 ��������	�/����� �2���%��� ����2
����
���.�������8�1�2.���$!� �����6���
��5	��.�'�����. +���, ��.�()*����-������

%�
��"���� �+�������������%���2�	.�$!� 
���'�
�/����������%�
����������” 

 

2) ��������"
�������#
������������  (Comparative Advantage Theory) 

  David Ricardo (1772 - 1823) -��2�=���()*�������������"���������������$!�-�� 
�.���������$	�'�.�������8�1�2.�������������5	� ������������������ ��� �����&%�2�'��0�
��������������������� �����
���
 ���. �.�8 %�
�/'�����.-������

���8��. ��������	
�����$!�'����	���	������$!� �()*���������&%� ��	���
���� �()*�������-������

%�
����

���

 
(Principle of Comparative Advantage) 
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%������� 2.2 ���.-������

%�
����

���

�.5	�����:;.����.-������

%�
��"������������
��!��.� (���.��6�-�-�����������%���.5	�����'��������) 

������ ��������� �	�%.������� (labor hour) 

Wine (W) Cloth (C) 

US 

UK 

40 

20 

40 

10 

��	.� : ���):�����&��������������������
5!�����, 2552 ���� 26 

 

����..��:������()*�������-������

%�
����

���

  ��	�����&%���!��..��:��-�� -����� 
� %�������
���
������������������ �����������.��3''�
��������2�
� �����	� ���

���������������� ��� 

� ������������� .���������6��3''�
���
� (the labor theory of value) ���.�����������	  
��	.����� ��������
�����".��	 ���������-.����'���6�������������"��..���0���)0�
�����01�2��.5�������������� (homogeneous) 

� ��������.��#���5	��
��
-���
������� 1�
�����������-.���.��#�+�-��������������� 

� ����
���%�%�
���!��������������	 ��������	������������.��#� ����%�%�
���	
���������� �������/�����1�
�������������� ���8����������	��.5������+����
���������
�� ��� 

� ������-.�-������	
�����-���.����
���������� ���'���6����������
���.�0��������	
� � 

� .������������.
/�0& ��������� �+�����/������������
������6��/�
�.��
���� (price 

takers) ���'����! ��01�2������ -.�.����.����������������������� �+�������������

������.����)0���	��.5��������������(identical) �/�������.��#��	'�����������'��
������!-��%�
���
 ������������������ �����!� '�������
����������
������
������� 

� ������ 2 ��������6����������� �����!�'$�-.�.���:
������-����	
����� 
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� ��������������������
�/�
& �/�
��%1�'�-.�.����.���������� ���������������	������
����������+����� #�����������������!����������� 

� �/������������
'�� �����������'��������� %�
2
�
�.�+���������+�-��/���� �0���	
�/�
��%1�����"2
�
�.�����.2��'�/���� %�
��������������'�����
��%1� 

� -.�.�1�2��������������� (money illusion) ��	�.5	��/�
��%1� ����/�����������������5��<5!� 
�����!���!����>?�
'�� �������2�'��0���	�����@ ��	2$�����+���.2(�����.����������

���� 

� �����������!���������� '������.�����.� (��������� ����'��
�25	� ����+�����) �+����
��������.������������ +�������������������� 

  ���������	 2 ����#$��()*�������-������

%�
����

���

 �������� �����&%�
�.5	���������$	�.��()*�������-������

%�
��"���� ��������������� 2  ��� %�
�..�������   
1  �	�%.� ����������:��.���� ����-��&-�� 40W (W ������) ��5����-�� 40 C (C ������) 
���� ����������()���� 20W ��5� 10C 

  ��.�()*����-������

%�
��"������� ���. �.�8 ������
������-.���.��#
�����$!�-�� �2�������������:��.����.�������8�1�2.����������()��������������� 2  ��� 
�
���-��"��.�()*� ���-������

%�
����

���

 ���������"��������:��.����.�������8�1�2��
���������������6� 4 �����.5	����

��
���������� (40/10) ���.�������8�1�2���������-��&
.����������() 2 ���� (40/20) �����!� ����:��.����'$�.����.-������

%�
��"����������������
.������-��&” 

  �0���	����().����.���
����

%�
��"�������
���� (Smaller absolute 

disadvantage) ��-��&.��������� '���"���������������.����. +���,�����������������	�����
.����.-������

%�
����

���

 %�
'������
�����	����$�)� ����:;'��+������������2�
��
���
���
��������()����-��&�2�
��
������
� �+������������	-����
'�����. +���,'�#/����'�
-��/�
��!���������� %�
�������
����������� 
  ���.���������/��

�������������:��.���� ������� ��� ��������) 1980 
��� 1990 ��	����:��.�����������#$�����������������
���.����� (�+����� > ������ ) ��
,�	��?� 
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.�
����� 5	���� ,�	��?�'���� ������:��.���� ��������������� (out produce) -������
��� %�
��'

.����-����������������+�����'��,�	��?� �+�����/��.5���������:��.����-.�.����.-������

%�

����

���

������������
 <$	������.��6�'�����!� ��6�-�-����	����������	��''�-.�.����
-������

%�
��"��������������� ��� �����6�-�-.�-����	��������$	�'�.����.-������

%�

����

���

������
��� ����������5	�-.�.����.-������

%�
����

���

������������
 �2���
���.-������

%�
����

���

�$!��
/���
����������

���

 (relative cost) �����	�����"��5� ������
��	.����.���
����

%�
��"���� (absolute disadvantage) ����������� ���'�2
���'���6�
���%
 �&��������� �������������������!�'�.����. +���,�����������	���	�����
����


%�
��"���� ���
��	���  
  �����!�'$�-.�.���������
��	����:��.����'�
�.�2�������,�	��?���������������
���
���
���������. %�
��!����������'����
��6��/��2���!����>?�
 �2������������%��'�����
��5	��'�����2
�����������������:��.����'�#/���!�-�������@ ��������	��� #�����������-.�.�
��-�-������������/���� �+�����������.��
������()*����-������

%�
��"���� ��� �()*�
���-������

%�
����

���

��6��
���.�� 

 

2.1.2 ������
�!�&!�'������)�	��*+,� (Purchasing Power Parity: PPP) 

�()*���	�8�
�
���.��.2��8&�������������������	
��������������%�
�7��	
�������
������ %�
�()*���!�$!��
/���
�*����������������
� (Law of One Price) �5� ������������5�

��������.��������
���������@ ���� ���#���������������� ������������������� �����
�������	
������������������������!�'������+����������.�������	������� (:���� 7�	�-2���, 
2542) 

SP* = P                                                              (2.1) 

 

*����� S � ���"���
���
���� (�$������!������$�#
����'��("�� 1 &����!������$�#

  "�����'��() 

 P* � ��'�������$���
�"�����'��(���/�!������"��$�#
"�����'��( 
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 P � ��'�������$���
�"�����'��(���/�!������"��$�#
����'��( 

 

*����/�-���"
!
�$��"������� $���
���
��53'�&� ������#���'����
'"
��$���
�
�'&������'��(����"
�����������!��!��$��/�36 �����"
��#����!�$�� �
'����������������
� 
�����)��'��
$���������3&���"���
���
���� � � 

 

S = *�
�

                                                               (2.2) 

 

����/����$����$����2�����,����3������
������
�!����"���
���
�������
���&���&
��"���
���
����$����2��
������
�!�)�
���
 �, ��"��$���"�������
������
��'���
����$���
� &� ������78� *���1
�����$��-��!��������� )��������������� (Relative 

Purchasing Power Parity) 

 

�S = *��
��

                                                               (2.3) 

 

���$����,���� 2
������
������
�!���'�������$���
�"�����'��(����������
��
������
�!������$���
�����'��( ����&
��"���
���
��������"��
�
�&� ��!4����!�)� �1�� 

��� 35 ���"����

��6 ���� 30 ���"����

��6 ����"
� �����"�����!
��2
������
������
�!��
�'�������$���
�"�����'��(�
������ �����
������
�!������$���
�����'��( ����&
��"��
�
���
��������"���,���!�)�&� ��������
� 
 

2.1.3 ��������	
����
�����������	
���	
������� (Real Effective Exchange Rate: REER) 

��"���
���
���������
���� � ���������� Effective Exchange Rate (EER) �������
��
�'�������������������'&������'��(��)�9 �����'��(�/��
����$����% �����1
����"��1�)2���'�����"��
�
���
��������&��'$� ��������)����1
����"������'�������!��!��!��$���
��'&������'��( ����
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� � ��"���
���
���������
����
�
� &� ���������,���$/�!�)� �$�����$���
�$������'������$/�!�)��� ��
������������!����'��(� �� �����)������� EER �������
���'�������������������'&����
��'��(������� Real Effective Exchange Rate (REER) ���������������� �,��'	
������
��
������
�!����"���
���
���������
�����'��	
��'��"���/
�������
� 

��� ���1�)�������$����2������!��!���
�����$����� ���,����3���� EER �,��������
�������������/���*�
�!����"���
���
���� �"�2
���� PPP �������'��
���������������
���'���
����������������'&������'��(��)�9 ����'��(�/��
����$����% ������� ���1�)0��'����!��!���
�����
$�����!����'��(��
������
���������� (1����:�6 ���/
�6$��$��; �
'�3', 2522) 

 

$��������1
����������3&� REER � � 

 

REER = EER x 
�
�*

                                                        (2.4) 

 

*�� REER � ���"���
���
���������
���� 
 ERR � ���"���
���
��������"��"�����'��( 1 &����"������"������'��( 

 P* � ��'�������$���
�"�����'��( 

 P � ��'�������$���
�����'��( 

 

2.1.4 ����	
����������� (Time Series) 

�����(��5�!
��/
�#
����
�&� �����
��'&������'��( ��������/
������$������
'���
����!
� �/
��������
����!��	
�"-�3<6��
���-������'��( (GDP) ����!
��/
�����#�����
� 
*��
��53'!����#�����
���9 ��!
����,����3�� � !
��/
��#�����
�����!
��/
�����
��53'����
&� ���� ����!
��/
��#�����
���������������'&6�'"
������!
��/
�����
��53'���� �����)����"
��
"���$������ ������
'�����"������) 
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!
��/
��#�����
������
��53'���� (Stationary) &���2�� !
��/
��#�����
���$-�,!��
���$��#
�1��$2�"� (Statistic Equilibrium) &���2�� ������!
��/
����������
������
��� ����
�
��
������ �$����
�����) 

1. ���&���&
 Xt, Xt+1, Xt+2, …, Xt+k ����!
��/
��#�����
������
� t, t+1, t+2, …, t+k 

2. ���&���&
 Xt+m, Xt+m+1, Xt+m+2, …, Xt+m+k ����!
��/
��#�����
������
� t+m, 

t+m+1, t+m+2, ..., t+m+k 

3. ���&���&
 P(Xt, Xt+1, Xt+2, …, Xt+k) ���������������������'��������!�� Xt, 

Xt+1, Xt+2, …, Xt+k 

4. ���&���&
 P(Xt+m, Xt+m+1, Xt+m+2, …, Xt+m+k) ���������������������'��������
!�� Xt+m, Xt+m+1, Xt+m+2, …, Xt+m+k 

 

���!
����&����)� 4 !
�����
��� �'������#�����
������
��53'������ ��  

P(Xt, Xt+1, Xt+2, …, Xt+k) = P(Xt+m, Xt+m+1, Xt+m+2, …, Xt+m+k) 

 

*��&��,���� P(Xt, Xt+1, Xt+2, …, Xt+k) ��������������� P(Xt+m, Xt+m+1, Xt+m+2, …, Xt+m+k) 

�'$�#���
���!
��/
��#�����
���
��53'������� (Non-Stationary) �����������$�� �',����3����
$����'$��+�;��"����� (Autocorrelation Coefficient Function : ACF) "��������
��!�� ���-���
����6 (Box – Jenkins Model) ����&��,������� Correlation (�) ���������,����3����$����'$��+�;��
"�������)� �������

 1 ��� �'$��	
�&
�������,����3������� ACF ����!
������������ �,��'������7
�$����� ACF �����*�
�
�
��&� ��9 ��� ����&
���������
����
 �����
 �����)� �����)-7/
�
��6  
���,�:�����"���$��!
��/
��#�����
������
��53'����&� ���� *�������$���/����/� (Dickey 

– Fuller: Unit Root Test, 1979) 
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2.1.5 �������
������
���������� unit root 

��+������$������������� unit root ������+���$���, ���$�����!
��/
��#�����
���

��53'���� (Stationary) [I(0); Integrated of order 0] &� � !
��/
��#�����
���
��53'������� (Non-

Stationary) [I(d); d > 0, Integrated of order d] 2
�"�������9 ���� unit root �������"�������)�������� 
��+���$����&
����+� �1�� ��+�!�� Dickey – Fuller (DF), Augmented Dickey – Fuller (ADF), ��+����
������#�������"��$���� (decision tree) ����$��*�� Holden and Perman �
'������1
*�� 

Mukherger ����"
� *���'�$����+���$�� Dickey – Fuller (DF) �
' Augmented Dickey – Fuller 

(ADF) 

�����$�� unit root ����1
�����$�� Dickey – Fuller (DF) �
' Augmented Dickey – 

Fuller (ADF) ��)���$��"�0������ (Null Hypothesis) !�������$�� DF Test ���$���� 

 

Xt = �Xt-1 + �t                                                        (2.5) 

*����� 
  Xt, Xt-1  � �!
��/
��#�����
�!��"�������$�' 3 ��
� t �
' t-1 

  �t    � ������
����
 ����1��$#�� (random error) 

  �  � �$����'$��+�;��"$&$��,��+6 (Autocorrelation Coefficience) 

 

*��$��"�0���������$��� � 

H0 : � = 1 

H1 : |�| < 1; -1 < � < 1 

 

*�������$��$��"�0�����������$�����"��������(��5� (Xt) ��)��� unit root &� ���� 
$����2,����3���
������ � 2
������� H0 : � = 1 �'�
�����
��� Xt ��
��53'������� (Non-

Stationary) &� � Xt �� unit root �
'2
������� H1 : |�| < 1; -1 < � < 1 &���������� Xt �'��

��53'���� (Stationary) &� � Xt ����� unit root �������������������� t-statistics ��������3��
������
��"���� Dickey – Fuller �'$����2�=��$+$��"�0����
 �$�����"���������������$����



 21


��53'���� &� ����� Integrated of order 0 ����
�� Xt ~ I(0) ��������4"�������$����)$����2
�����
������&���������&
	
�&� �����$����!
��"
� �
���� � 

 

�&
                                                        � = 1 + � ; -1 < � < 1                                                     (2.6) 

 

*�� � � �,������"��6 
�'��
                                                   Xt = (1 + �)Xt-1 + �t                                                         (2.7) 

Xt = Xt-1 + � Xt-1 + �t                                                         (2.8) 

Xt - Xt-1 = � Xt-1 + �t                                                                   (2.9) 

 

�'��
$��"�0����$��!�� Dickey – Fuller � � 

 

H0 : � = 0 

H1 : � < 0 

 

2
� � ��$�������������
� �'��
��� � ��$����������
������ 1 �����)�$����2$�#����
��$����
��� �=��$+ H0 : � = 0 ������������������������ H1 : � < 0 &���������� � < 1 �
' Xt �� 
Integrated of order 0 ��)�� � Xt ��
��53'���� (Stationary) �"�2
����$����2�=��$+ H0 : � = 0 ��
 �4
�'&���������� Xt ��
��53'������� (Non-Stationary) 

�� ������!
��/
��#�����
� 3 ��
� t ��$���$��,��+6���!
��/
��#�����
� 3 ��
� t-1 

�������� �
'���*�
� �����)��

� Dickey – Fuller �',����3�$����2�2����
 3 �/��������"�"���
����������$������� unit root &� ���� ���� 3 $��������
�����
��� 
 

�Xt = � Xt-1 + �t                                                                    (2.10) 

�Xt = � + � Xt-1 + �t                                                             (2.11) 

�Xt = � + �t + � Xt-1 + �t                                                     (2.12) 
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���"�)�$��"����!�������$�� Dickey – Fuller �����1��������������
������

�!
��"
� 

$��������$��*���1
�����$�� Augmented Dickey – Fuller (ADF) *������,���!������
2�2����"����� (Autoregressive Processes) �!
�����$���� �������������
�.%&�����3�����1
���
��$��!�� Dickey – Fuller �

���� Durbin Watson "��� ����,���!������2�2����"�������)�	

�����$��!�� ADF �'����&
��
��� Durbin Watson �!
���

 2 ����&
��
$�����&���������,��� 

lagged chance �!
�����$���������$�� unit root ����
��!��� � ����,��6����$��!
�����)� 

������ lagged chance (p) �'!�)���/���������&��'$�!��!
��/
 &� �$����2�$������� lag ��
����'������������.%&� Autocorrelation �����) 
 

None                            �Xt = � Xt-1 + �
�

�
p

it
� Xt-i + �t                                                    (2.13) 

Intercept                       �Xt = � + � Xt-1 + �
�

�
p

it
� Xt-i + �t                                              (2.14) 

Intercept & Trend            �Xt = � + �t + � Xt-1 + �
�

�
p

it
� Xt-i + �t                                     (2.15) 

 

*����� 
   Xt  � �!
��/
"����� 3 ��
� t 
   Xt-1  � �!
��/
"����� 3 ��
� t – 1 

   �, �, �, �  � ����,������"��6 
   t  � �������*�
� 

   �t    � ������
����
 ����1��$#�� (random error) 

 

������!�� Lagged term (p) ����,����!
�����$����!�)���/���������&��'$�!���"�
'
�������� &� ��,������ lag ��$����������$���!����������
����
 ����'��������.%&� 
Autocorrelation 

�����$��$��"�0����)���+���$�� Dickey – Fuller (DF) �
' Augmented Dickey – 

Fuller (ADF) ���������$�����"����������$�� (Xt) �� unit root &� ���� ����$����2&���
������ 



 23

� 2
� � ������������ 0 �$�����"����� Xt ��)��� unit root ������$��$��"�0����
*�����
�������������� t-statistic ��������3��
��������"���� Dickey – Fuller ������� t-statistic ��������
��$��$��"�0�����"�
'�/������)��'"
���������������������"���� Dickey – Fuller �'���
"���9 2
�$����2�=��$+$��"�0����
 �$�����"���������������$������ Integrated of order 0 

�����
�
�� Xt ~ I(0) 

��3���������$��$��"�0��,���� Xt �� unit root ��)�"
������� �Xt ����� differencing 

����$����2�=��$+$��"�0�������� Xt �������������!��!
��/
��
 �, ��������� Integrated of order d 

��/����'����� [Xt ~ I(d); d > 0] 

 

2.1.6 �������
������������������������������� (Cointegration Test) 

���������$������$���

��!��!
��/
��#�����
�!��"������/���9 ��������
��
 ����&����$���

�����&� ���� �� ������-���"
�����1 �����������'�'����

�"��������
�(�50�������'�������
 ����&�����(�������(���&�������$���

����� ��
������'�'$�)�����
��
 ����&�!��"���������
�������'�������
 ����&� ������$����2���&����(��������������
�4
"�� �
'������������$�������
 ����&�!����������
����
 ��� (Error Term) !��$����
����$��,��+6�'&����"��������"
�������$�� �������� ����!�����) 

1). "�������#�����
����"
�������$�� "
�����#3$���"���������!��"����� 

(Stationary) &� � 2
�"��������"
�������$��������#3$���"�����
��� �"�2
������
������
� 
(differenced) !��"����� 3 
����������9 (d) ���#3$���"�!�����������

� �
�����
��� "�����
��#�����
�����
����������
 ����&����$���

����� (cointegration) 

2). ��
���"��������"
�������$���'������#3$���"��������� (Non-Stationary) ��/��4
"�� �"�2
���������
����
 ��� (�t) !������$��,��+6�1���$
�"��!��"������/���9 ���#3$���"�
!���������� (Stationary) $����2�
�����
��� "�������)�$����
��53'����$��,��+6���� 

cointegration ��
 
!�)�"���������$�� cointegration �����"������) ��$��"�������������
�������


��53'���� Non-Stationary &� ���� *���1
��+� ADF Test �
'���"
���$��������� �
'���*�
�!��
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��
� �

��������'��3$����2�2���
����+����
��$���
�����$#� (Ordinary Least Squares : OLS) 

���$�������&
 � (residuals) ���$����2�2�������'��3��
 ����$�������
��53'����&� ���� ����
�����$������&
 � (residuals) ��$�������"������) 
 

��̂t = ��̂t-1 + �t                                                         (2.16) 

*����� 
  �̂t, �t-1  � �$�������&
 � 3 ��
� t �
' t-1 ��������&�$����2�2���&�� 
  �  � ����,������"��6 
  �t  � �!
��/
��#�����
�!��"�����$#�� 

 

$��"�0������1
�������$�� cointegration �������) 
 

    H0 : � = 0  (no-cointegration) 

    H1 : � < 0  (cointegration) 

 

�����$��$��"�0���������������� t-statistics ��������3��
�����"��$���!�� �̂ / 

S.E.�̂ ����������������"���� ADF Test ����2
���� t-statistics �������������>"!�� MacKinnon 3 

�'������$����%������&����
 �4�'��������=��$+$�"�0������ �����$/�!
�$�#�������"�������
��53'
������� (Non-Stationary) ��$��������
�����
��53'����������
����� (cointegration) 

��������4"�� 2
�$���"��
��&� �$�������&
 � (residuals) !��$���� (2.16) ������� write 

noise �4�'�1
�����$�� ADF �������'�1
$���� (2.16) $��"���� �t !��$���� (2.16) ��
$&$��,��+6�1�������� (serial correlation) �'�1
$���������) 
 

��̂t = ��̂t-1 + �
�

p

t 1
ai��̂t-i + �t                                          (2.17) 
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�
'2
� -2 < � < 0 ���$����2$�#���
��� $���"��
��&� �$�������&
 � (residuals) ��

��53'���� (Stationary) �
' Yt �
' Xt �'���� CI(1,1) $����"��� $���� (2.16) �
' (2.17) �����
,��6$���"�� (Intercept Term) �� ������ �̂t ����$���"��
��&� �$�������&
 � (residuals) ���$����
2�2�� (Regression Equation) 

 

2.1.7 ����������� �����!� Autoregressive Distributed Lag  (ARDL) ��  Error 

Correction Model (ECM) 

������
���1��,
��"� (Dynamic Model) *���������'��'������
������.��#���!��
"������
'����
��1
� (lagged) !��"�������/����'��$����������� �����'��$������
��53'
����
���$����2$�
����
&
���/���� �����1�� 

 

������
�� Distributed Lag Model 

Yt = �1 + �2Xt + �3Xt-1 + Ut                                         (2.18) 

 

������
�� Autoregressive Model 

Yt = �1 + �2Xt + �3Yt-1 + Ut                                         (2.19) 

 

 

������
�� Autoregressive Model 

Yt = �1 + �2Xt + �3Xt-1 + �4Yt-1 + Ut                            (2.20) 

 

�����'��$���������"�������������
���2 ��������
����� order !��!
��/
���������� 1 ��
���6��'���!�� Distributed ���$���� (2.18) �
'����
�����!��!
��/
���������� 1 ��
���6��'���!�� Autoregressive ���$���� (2.19)  ����!�����
���� ARDL (1,1) ���$���� (2.20) 

�
'2
��'��$���������
�����!��!
��/
���� 3 
����� order ��9 *��$��"��&
���� 3 p �
' q 



 26

�

�����!�����
���� ARDL (p,q) �
'�$������$��,��+6�&
�����/����$������
���"������) 
(University of Strathclyde, 2003: online) 

 

Yt = a + �1Xt + �2Xt-1 + … + �qXt-q + �1Yt-1 + … + �pYt-p + Ut                  (21) 

 

*��������
��53'!������$��,��+6������� ARDL "�����"���9 ��$����2�2���'
��'����
���������
��1
�!��"�����"�� �
'����.��#�������������
��1
�!��"������+����&����
"�����&� ����������)� ����*���$�
�������������
��1
���
��53'����
�������)�$����2������ 

Generalization �&
����$�������/� Lag Polynomial -���"
�� ����!!����������
����
 ��� (error 

term) ��������
�� Ut "
������ white noise � �������?
��� (mean) ����(/��6 �
'����������� 

(variance) ����� �

��'��$�������� ARDL (p,q) ������/�-���"
"�������$�'�,���&����"�� $����2
�$����
���"������) (Johnston and Dinardo, 1997: 224-248) 

 

A(L)Yt = a + B(L)Xt + Ut                                                  (2.22) 

*����� 
 A(L) = 1 - �1L – �2L

2 - … - �pL
p 

   

 B(L) = �0 + �1L + �2L
2 + … + �qL

q 

&���,���"������+�����!
�����@.A�!��!��$���� (right-hand-side) *���&
���� ARDL  

(p, q1, q2, …, qk) �'��
���$����"������) 
 

A(L)Yt = a + B1(L)X1t + B2(L)X2t + … + Bk(L)Xkt + Ut                     (2.23) 

 

��+��������������1
����&� �����/����$����������� Dynamic Adjustment Process �, ��
�!
�$/���� Parameterization !��������
���&
��/����/����!�� ECM ��)� ��"�������������� Simple 

ECM ���"������) (Leighton, Thomas R., 1993: 152-154) 
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$��"��'��$�������������$��,��+6���'�'���2/����&��*��$���� (2.23) �����) 
 

Yt = �1 + �2Xt                                                             (2.24) 

 

�"��� ������"����� Y �
' X �����
��/����#
�-�,"
����
�������$����2&�
����$��,��+6���'�'�����
*��"�� �"�$����2&�����$��,��+6���!���#
�-�, �
�����,����3�
2���������
��1
�!��"���������
��� �����$����
���$����"������) 
 

Yt = �0 + �1Xt + �2Xt-1 + �1Yt-1 + Ut           *����� 0 < � < 1              (2.25) 

 

�'�&4����$���� (2.25) ���'���!��"������������ Non-Stationary �
'��/����/�        

ARDL (1,1) �
'�� ������������/����$�����&��������)� �
'������ Reparameterise *�����
�
�
�� Yt-1 ��)�$��!
��!��$���� (2.25) �'��
����$���� (2.26) ���"������) 
 

�Yt = �0 + �1Xt + �2Xt-1 + (1-�)Yt-1 + Ut                                      (2.26) 

 

�� ������ �Yt = Yt - Yt-1 �
' �Xt = Xt - Xt-1 ������$�����&����
���������) 
 

�Yt = �0 + �1�Xt – (�1+ �2)Xt-1 + (1-�)Yt-1 + Ut                         (2.27) 

 

�����)����$����2 Reparameterise $���� (2.27) ��
������������) 
 

�Yt = �0 + �1�Xt – (1-�)(Yt-1 - �2Xt-1) + Ut                 *����� �2 = 
� �

)1(
21

	




�
�

                     (2.28) 
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�����)����$����2 Reparameterise $���� (2.28) ��
������������) 
 

�Yt = �1�Xt – (1-�)(Yt-1 - �2Xt-1) + Ut                 *����� �2 = 
)1(

0

	


�

                        (2.29) 

 

?'��)�$���� (2.29) 2 ����� ECM *����������
������
�!��"����� Y �'!�)���/�������
��
������
�!��"����� X �
'����!�� (Yt-1 - �1 - �2Xt-1) ���2 ����� disequilibrium error ���1���
�'�'��
�����&�
� �
'��� �1 �
' �2 �4����,������"��6!������$��,��+6���'�'��� ��$���� 

(2.24) �����)���� - (1-�) ��$���� (2.29) &���2�����
�
�!������	��,
�� �� ������          0 < 

� < 1 �����)���� - (1-�) �����
����������������4����������"���!
�$/��#
�-�,���'�'��� 

��� ECM ��$���� (2.29) $����2,����3�	
��'����)��'�'$�)��
'�'�'�����
 
�� ������"��,������"��6 �1 �
' �2 �������=�� dis-equilibrium error term ��$���� (2.29) �4� �
"��,������"��6���'�'���!��$���� (2.24) �����)�$����'$��+�;!�� �Xt &� � � �����)� � 2 �
����"��,������"��6���'�'$�)�������	
��'��*����������'�'$�)�!��"����� Y ������
��
������
�!��"����� X 

��������)� ECM ���������$���

��������������
���������$��*�� Hendry (1979) 

&� ������������ “General-to-Specific Approach” �� �������>5=�����(�50(�$"�6$����&%����
$����21�)��'�&
�&4�����������"�����'�'$�)�!��"�����"���9 �����/���������
����)�9 �����

��53'�������������
 ��!3'����#
�-�,���'�'�����)� �
��$����21�)�&
�&4����"��������
�(�50������
�����$��	
&� ��&
����+���������
��53'�������������
 2����
���"������'������
$���

�� (cointegrated) ����

��4"�� �"�����$��,��+6���'�'$�)�&� �����
��53'����           

dis-equilibrium relationship �'2/��$��*�� ECM �$�� �����)����������'&6�������
��53'!�����
�������
 ����&����$���

����� (Cointegration) ��)��
�������
�
���2���/��������������"������
�� �
'*���$�
��!������
��1
��4���$����2�+��������$��,��+6���'�'$�)���
�����1��������
�1����� �����)�����&4��������
����&
!
��/
����"�����&���/����!���������"���'�'$�)��&
���
���$#�*������&
��
��53'�������&
������$#����� &
�������)�����1
&
��������$2�"���$�� �1�� 

F-test �, ���&
"����������������$����%���$2�"�
�
��� ���9 ��)�� ���'�����������������              
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test-down procedure ����'������
$������������$2�"�������
'$����2�1
�$���/�����������"����
�'�'$�)�!��"�����"���9 ��������
����)�9 ��
 (���$���6 &����$��, 2538: 29) 

 �+������+���� “Hendry-type general-to-specific methodology” *����"����������
������
�� ARDL (p,q) *����� p = q = 2 ��
���"������) (Leighton, Thomas R., 1993: 155-157) 

 

Yt = �0 + �1Xt + �2Xt-1 + �3Xt-2 + �1Yt-1 + �2Yt-2 + Ut                           (2.30) 

 

�
'����������/����$���� (2.30) �&����
�����) 
 

�Yt = �0+ (�1– 1)�Yt-1+ �2�Xt+ (�1+ �2)Xt-1– (1 - �1- �2)Yt-2 + (�1+ �2+ �3)Xt-2+ Ut   (2.31) 

 

�����)� reparameterising $���� (2.31) ��
���� 

 

�Yt = (�1 – 1)Yt-1+ �1�Xt + (�1 + �2)Xt-1– (1 - �1- �2)(Yt-2 - �1- �2Xt-2) + Ut        (2.32) 

 

*����� 

  �1 = � �21

0

1 		


��

 �
' �2 = 
� �
� �21

321

1 		





��
��

 

 

�� ������ �1 �
' �2 ���� unknown ���$���� (2.24) ������$����2��'��3�����
 �"�
$����2��'��3��������"
���$���� (2.31) ���� �
'������$���$���� (2.32) �, ����'��3���  
�1 �
' �2 ������)����$����2�+��������$��,��+6���'�'�����
 ����� ���������,����3�
����$��,��+6������'�'$�)���������
�� ECM �������
����� �'�&4����$���� (2.31) 2/� 

reparameterization ��1�����
� t-1 &� � t-2 ���������
�
�� 

 

�Yt = Yt - Yt-1 &� � Yt = Yt-1 + �Yt �'��
��� Yt-1 = Yt - �Yt �����)� Yt-2 = Yt-1 - �Yt-1 
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�Xt = Xt - Xt-1 &� � Xt = Xt-1 + �Xt �'��
��� Xt-1 = Xt - �Xt �����)� Xt-2 = Xt-1 - �Xt-1 

 

�

�����������$���� (2.31) ��
�������/�����������"������) 
 

�Yt = �1�Xt - �2�Yt-1 - �3�Xt-1 – (1 - �1- �2)(Yt-1 - �1- �2Xt-1) + Ut                 (2.33) 

���$���� (2.33) �'�&4���� Error Correction Term ������$��,��+6���1�����
� t-1 �
' 

"������ ��9 ��)�&���'����1�����
��.��#��������������
��1
������	
"���
��������&���� 
��������)� ���$���� (2.32) ���� ECM *�� term (Yt-2 - �1- �2Xt-2) ��)�� �                

dis-equilibrium ���$��1�����
�����&�
���)� �����)�&����
����� order ��� m "����'������ 

general distributed lag �

��'$����2�!����/����$������
�������"������) 
 

Y = �0 + it

m

i
i �

�


�
1
	  + 1

1

1
��

�

�

��� it

m

i
i
  + Ut                                   (2.34) 

 

�����)�$�������������$���� (2.34) �'������
�����!�� ECM ������� 1 ����&
    
Hendry methodology ,����������� testing down procedure �, �����&���&
 ECM $����2�+����
!
��/
��
�����$#� 

��������4"�� ECM �4��/���, )�0�������'�#�"6�1
����$��,��+6���'�'����'&����"��
���"���9 ?'��)��'$����2�������
���������� ����$��,��+6���'�'�����)�����/�����&� ����� 

Cointegration &� ���� �&
����)�������!
�������!��"����� Non-stationary ��������1
������������� 

Standard regression �1�� ����1
 OLS �'���$����2��'�#�"6�1
��
 ��!3'��������� Cointegration 

�'"
���������$�� Stationary !��!
��/
��#�����
����� &� ������������ �����$�� unit root 

������������1
*������4� � Augmented Dickey-Fuller Test (ADF) �
'&��"
������&
!
��/
���� 

Stationary ��)�"
�������� First difference "���
�� Second difference ���� ���9 ����'����
$��"�0��&
�����"�)���
���"��������� Non-stationary (�� unit root) ��)��'2/��=��$+ �
',����"��
���"���9 ��)����#3$���"� Stationary ����'������ differencing ��9 �1��        Xt ~ I(d) ����"
� 
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�����)��4������,����3�2�������$�� Cointegration ����*����������)� ����$��,��+6
�1���#
�-�,�'&����$��"�������#�����
� X �
' Y ��)��'�!
�$/������$����
"
���� I(d) ��/� 3 

order �������� �

���������'��3���!�� dis-equilibrium errors &� � residual *�� OLS *�����
�����$����� residuals ������� Stationary &� ���� �1�� Ut ~ I(0) &� �$����2�=��$+$��"�0��
&
��������� Non-stationary ��
 �$�����"����� X �
' Y ��)��/����� Cointegration �'&������� ��)���) 
Engle and Granger ��
�$��$2�"�����1
��$�� Cointegration ��/� 7 ��+� �����1�� Cointegrating 

Regression Durbin-Watson test (CRDW) �
' Cointegration ADF test ����"
� (Leighton, Thomas 

R., 1993: 165) 

 

2.2 �������� ���������	
��	
������ 

 

 ��"#�� ��$%������ (2546) ������(��5��� ��������$������$��,��+6�'&�������
����%�"��*"����(�50����
'���$�����!����� ���*������� ���
���� �
'���&
��"
 ,����
���(��5����)���)����"2#��'$��6�, ��&�����$��,��+6�����$����(����'&�������$����� ������
����%�"��*"����(�50���!����'��(��� ���*������� ���
���� �
'���&
��"
 ���'�'$�)��
'
�'�'��� (��5����������&"#����	
�'&����"������/
������$����� �
'��1��	
	
�"���
�#"$�&���� �
'�, ������2�������������,�:���(�50���!����'��( *���1
�*����$���$���
���$������������&
���������
������
� "����"���������%�"��*"����(�50��� !����'��(��
��(����� *����(��������
������(�50��"��
����������+� Cointegration �
' ECM (Error 

Correction Model) "����'������ ADF (Augmented Dickey-Fuller Test) �, ��,����3��#
�-�,
���'�'���"��������!�� Engle and Granger (1987) ,������"�����$����������&"#"����"��
	
	
�"����#"$�&���� �"���"��	
	
�"����#"$�&������������&"#"����"�����$����� ���#�
��'��(���������(��5� 
 	
���(��5��$���&
�&4�������$����� ��	
"��	
	
�"����#"$�&�������������$��,��+6
�����"���������%�"��*"����(�50���!����'��(��� ���$��������������$����%"���(�50���
!����'��(�, ���&
�(�50�������%�"��*"����������� 
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 ������ ��$���$����� (2551) ������(��5��� ��������$������$��,��+6�'&�����#
$���
��
'
�����������"���
���
����!����'��(���
��,�:�� ,�������(��5����)���)����"2#��'$��6�, ��
��$������$��,��+6�'&�����#
$���
��
'�����������"���
���
����!����'��(���
��,�:�� 8 

��'��( ��
��� ��'��(7B
���B�$6 ��'��(��� ��'��(���*������� ��'��(�����
 ��'��(
��4���*� ��'��(��7�����"
 ��'��(��$���� �
'��'��(������� ���������"���'&�����#
$���
�
�
'�����������"���
���
�������'�'$�)��!
�$/��#
�-�,���'�'��� �
'������'&6����$��,��+6
�'&�����#
$���
��
'�����������"���
���
�������'�'��� *����(��������
������(�50��"�
�
����������+� Cointegration �
' ECM (Error Correction Model) "����'������ ARDL 

(Autoregressive Distributed Lag) �, ����$������$��,��+6�'&�����#
$���
��
'�����������"��
�
���
����!����'��(���
��,�:�����'�'$�)��
'�'�'��� ,�����#
$���
��
'��������
����$��,��+6�����"���
���
�������'�'$�)������'��(7B
���B�$6 ��'��(��� ��'��(
���*������� �
'��'��(��$���� ���������$��,��+6�����'��(�����
 ��'��(��4���*� ��'��(
��7�����"
 �
'��'��(������� $�������$��,��+6���'�'����'&�����#
$���
��
'���������
��"���
���
�����������'��(��� ��'��(���*������� ��'��(�����
 ��'��(��4���*� ��'��(
��7�����"
 ��'��(��$���� �
'��'��(������� ���������$��,��+6�����'��(7B
���B�$6 
 	
���(��5��$���&
�&4�����#
$���
��
'������������$��,��+6 �����"���
���
������
�'�'$�)��
'�'�'�����&
����'��( ��"���
���
�������������� ���� ����$����2�,����#
$���
�
�
'��������
 	/
����	��*����$����2�1
��"���
���
�����, ���,����#
$���
��
'������!��
��'��(��
 
 

 ���	 �����&��$ (2551) ������(��5��� �������$��,��+6�'&�������$����� ��"��
�
���
���� �
'�������%�"��*"����(�50���!����'��(��� ��� %���#C� ���
���� �
'���&
��"
 
,�������(��5����)���)����"2#��'$��6�, ��(��5�����$��,��+6!�����$����� ��"���
���
���� �
'
�������%�"��*"����(�50���!����'��(��� ��� %���#C� ���
���� �
'���&
��"
 ���'�'$�)��
'
�'�'��� �, ������2������$��,��+6��
��53'�����&"#����	
���!�����$����� ��"���
���
���� 

�
'�������%�"��*"����(�50���!����'��(���������(��5� �
'�, ���������������������	�
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�*�����(�50���!���"�
'��'��(*�������'"#
����$��������'�'$�)��
'�'�'��� *����(��
������
������(�50��"��
����������+� Cointegration �
' ECM (Error Correction Model) "��
��'������ ARDL (Autoregressive Distributed Lag) �, ����$��&����������&"#����	
��� 	

���(��5�����$��,��+6�
',����3�	
��'�������"�� 	
�"-�3<6��
�����'1�1�"����'�'���
!�����$����� ,����������$��,��+6����(�����������"����'��(��� ��� %���#C� ������$��,��+6
����(���"�����!
��"����'��(���
���� �
'���������$��,��+6"����'��(���&
��"
 ��$���!��
����$��,��+6"�� 	
�"-�3<6��
�����'1�1�"� ���'�'���!����"���
���
���� ,������
����$��,��+6����(�����������"����'��(��� ��� %���#C� ������$��,��+6��
��53'���	��"��
"����'��(���
���� �
'���������$��,��+6"����'��(���&
��"
 
 	
���(��5��$���&
�&4���� ���$�������	
"�� 	
�"-�3<6��
�����'1�1�"� �������
��� ���� ���� �������%�"��*"����(�50���!����'��( �"�
'��'��(���$���$������ $�����
�, ���&
�(�50������������%�"��*"�
'$����2�!��!����
������
��'&������'��( 

 

 ����'� '�(���� (2551) ������(��5��� ���������������������$��,��+6�/
�������
��
'
��"���
���
����!����'��(��������'��(���
��,�:���
'��'��(,�:���

� ,�������(��5�
���)���)����"2#��'$��6�, ��(��5�������������������$��,��+6�/
�������
� �
'��"���
���
����!��
��'��(��������'��(���
��,�:���
'��'��(,�:���

� (��5�	
!����"���
���
���������"��
�/
�������
�!����'��(��� ��'��(���
��,�:�� �
'��'��(,�:���

� �����)�&�� 9 ��'��( 

������'��(���
��,�:�� 4 ��'��( ��
��� ��'��(���*������� ��'��(���&
��"
 ��'��(�������� 

�
'��'��(������� ������'��(,�:���

� 5 ��'��( ��
��� ��'��($&��0������� ��'��(%���#C� 

��'��($���*��6 ��'��(����>5 �
'��'��($��"����6�
��6 *����(��������
������(�50��"�
�
����������+� Cointegration �
' ECM (Error Correction Model) "����'������ ARDL 

(Autoregressive Distributed Lag) �, ����$������$��,��+6�/
�������
��
'��"���
���
����!��
��'��(��������'��(���
��,�:���
'��'��(,�:���

� ,������"���
���
���������
����
�'&������������������������!����'��(�/��
����������$��,��+6 ����/
�������
�!����'��(��� 

��
��� ��'��($&��0������� ��'��(%���#C� ��'��(����>5 ��'��($��"����6�
��6 ��'��(
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 ��'��(�������� �
'��'��(������� $�����"���
���
���������
�����'&��������������
����������!����'��(�/��
�������$��,��+6����/
�������
�!����'��(��� ��
��� ��'��($���*��6 
�
'��'��(���*������� 
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�$����&%� ��"���
���
������������,������ ���� �����1
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������
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�!����'��(��� *��+������
���&����'��(�������
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���$2���-�, 

 


